105SE2 4T 8  ERHA T SR BB B R AR AR

FL Y% Lk 2-374 4-54 6-74 8-944 | 10-1174 | 12-13:8 | 14-158 | 16-17:8 | #8pk&E | %X
1 GGi—H | 79.70714 | 82.98 83.7 81.15 | 8221111 83.025 |82.29167| 8l.6 |[82.08311 12
2 Gi— L 79.8 82.36 80.48 | 83.075 |85.06733]80.02222 | 83.05778 | 81.525 |81.92342 13
3 Gi—™ | 73.025 79.1 7444 | 76.625 |77.87556| 75.02222 | 74.34222 7142 | 775.57875 26
4 Gi—1 | 73175 | 72.66 05.4 71.575 [ 68.77911| 70.88889 | 79.27556 | 80.43 | 72.77294 36
5 f—H | 7675 71.1 71.6 71.9 | 7377978 | 73.62889 | 73.56889 | 74.62 | 74.86844 30
6 H—2 | 90.875 9.1 87.84 88.65 |90.39733|89.37556 | 87.71111| 89.55 | 8&9.18738 6
7 BE—H 71.5 73.676 | 75.79 7445 | 68.37222(72.37778 | 7.4 7045 | 73.752 32
8 =—H | 81.125 71T 81.32 83.15 | 81.93207 | 82.83556 | 82.58444| 81.35 |[81.49971 15
9 Bl—H 88.7 85.344 | 84.956 | 84.85 |83.08044 |85.13611|86.45278| 86.4 |85.61492 8
10 fe—H | 79.35 | 74.546 | 7359 | 73.075 |66.86667|68.35556|66.05556| 68.45 | 71.2861 39
11 {BE—H | 77.8125 | 79.31 80.31 | 80.7125 | 81.61244 | 82.78444 | 81.06889 | 82.05 | 80.7076 16
12 Ben— | 82.35 | 78.884 | 80.398 | 80.05 |75.90022|74.07936|75.02222| 742 |77.61048 22
13 i —H 90.6 90.2 90.74 | 91.875 | 93.632 91.3  190.25556 | 90.43334 | 91.12949 4
14 B&—2 | 9545 96.24 94.92 94.5 95.8 95.55 95.72 95.4 | 95.4475 1
15 GRER | 73825 | 771.54 71.8 71475 75 7177333 [ 76.49778 | 7145 | 76.67014 24
16 G2 81.8 82.42 68.14 08.45 | 72.534 729 | 7144444 T1.15 | 73.60481 33
17 &N | 84.125 82.8 83.56 | 82.975 84.4 84.42 86.58 84.9 84.22 10
18 &R 78.0625 | 64.79 73.39 7635 | 73432 | 71.55 | 72.06667| 70.8 |72.55515 38
19 T 76.9 4.7 7418 | 700725 | 73.664 | 7224 |75.94667| 7234 |73.83696 31
20 2 |87.71428 | 84.848 | 81.76 89.15 | 90.066 | 89.575 | 88.875 | 89.375 |[88.42041 7
21 B H 79.8 78.66 73.3 76.2 75.7 7413 | 73.76889 | 72.04 | 75.44986 28
22 = H | 79.625 4.4 7246 | 85325 | 76.266 | 72.65 |71.64444| T71.75 |75.51506 27
23 BUTHH | 7655714 72.23 79.714 | TATIS | T7.664 68.4 | 68.17778| 67.65 |[73.14924 35
24 e —F 76.1 79.58 76.8 79.475 | 78.84 7127 |75.83333| 79.35 | 77.90604 21
25 {BZH | 79.5125 | 80.22 76777 | 741875 | 75.964 | 7426 |[76.28333| 75.58 |[76.59717 25
26 i — 79.5 81.76 7512 | 80.125 | 81.86 83.47 80.62222| 80.7 |80.39465 17
27 gk — HH 84.85 88.2 88.82 | 91.625 | 94.216 957 19523556 94.875 |91.69019 3
28 B _—2 | 95.05 96.36 88.4 94.4 96.758 96.8 19495556 96.4 |94.89044 2
29 Gi=H | 79.85 75.8 74.88 73.05 | 73.068 |70.93778]70.19556| 67.95 |73.21642 34
30 &= | 84.075 80.3 81.268 | 79.95 | 78.8064 |83.45556|83.28444| 83.15 |81.79338 14
31 &= | 8115 7127 | 79418 75.6 79.168 | 80.10667 | 78.96667 | 79.48333 | 78.89533 19
32 e 81.1375 | 78.88 73.7 79.825 | 81.302 | 78.85889 | 78.46889 | 79.73333 | 78.9882 18
33 P=H 71.8 75.84 7338 | 76.675 | 81.602 |77.35111(79.19333| 77.05 |[77.36143 23
34 =2 | 7495 | 73.498 | 79.238 73.7 71.15 169.96825 ([ 79.81111 | 58.225 | 72.56755 37
35 B—=H 81.65 79.84 86.24 714 82.18 | 74.31556 | 74.72889 | 69.65 | 78.25056 20
36 == | 84.7125 | 87.56 87.29 89.6 91.6  |93.64667|92.74111| 91.55 |89.83753 5
37 BI=H | 85.075 | 79.33 75.22 55.6 59.516 |[80.8211183.30444 | 82.375 |75.15519 29
38 R=H | 55.15 56.6 51.56 02.85 | 53.766 |[48.91556|58. 77778 | 55.75 |55.42117 40
39 {L=H 84.05 88.36 | 82.508 | 85.075 | 79.498 |79.44889|83.09333| 83.35 | 83.1729 11
40 = |86.06428| 85.888 | 84.68 | 83.325 85.4 [ 83.82778|83.68889 87.55 |85.05299 9




